*AAT (IC/HW)-Days 1 & 2 	 					Name___________________________
Chapter 6:  6-5 Trigonometric Graphs		 		Date: ___________ Period: __________
Find the amplitude and the period and sketch the graph of the equation.
1.  (a)  y = 4 sin x					             (b)  y = sin 4x
[image: doubletrig]         [image: doubletrig]
     (c)  y =  sin x						(d)  y = sin  x
[image: doubletrig]         [image: doubletrig]
     (e)  y = -4 sin x						(f)  y = sin (-4x)
[image: doubletrig]         [image: doubletrig]

     (g)  y = 3 sin  x                                                                          (h)  y =  sin 2x
[image: doubletrig]         [image: doubletrig]
Find the amplitude and the period and sketch the graph of the equation.
2.  (a)  y = 3 cos x							(b)  y = cos 3x
[image: doubletrig]           [image: doubletrig]
(c)  y =  cos x                                                                                 (d)  y = cos x
[image: doubletrig]         [image: doubletrig]
(e)  y = 3 cos x                                                                               (f)  y =  cos 2x
[image: doubletrig]          [image: doubletrig]
(g)  y = -3 cos x							(h)  y = cos (-3x)
[bookmark: _GoBack][image: doubletrig]          [image: doubletrig]



Find the amplitude, the period, and the phase shift and sketch the graph of the equation.
3.  y = sin                                                                          4.  y = 3 sin 
[image: doubletrig]         [image: doubletrig]
5.  y = cos                                                                         6.  y = 4 cos 
[image: doubletrig]        [image: doubletrig]
7.  y = sin (2x - π) + 1						8.  y = - cos (3x + π) - 2
[image: doubletrig]        [image: doubletrig]
9.  y = -2 sin (3x - π)						10.  y = sin 
[image: doubletrig]         [image: doubletrig]

	

11.  y = 6 sin πx						12.  y = 2 cos 
[image: doubletrig]          [image: doubletrig]
13.  y =                                                                              14.  y = 5 sin (3x - )
[image: doubletrig]          [image: doubletrig]
15.  y = 3 cos                                                                  16.  y = -5 cos 
[image: doubletrig]          [image: doubletrig]
17.  y = 3 cos (πx + 4π)					18.  y = - sin 
[image: doubletrig]          [image: doubletrig]
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